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QUESTION 1

Which of the following has permissions precedence? 

A. The permission granted most recently 

B. Group 

C. Role 

D. User 

Correct Answer: C 

 

QUESTION 2

Where does ASE gather aggregated historical query information in a persistent catalog? 

A. sysgams 

B. syslogs 

C. sysquerymetrics 

D. sysqueryplans 

Correct Answer: C 

 

QUESTION 3

For a full-merge join which of the following are TRUE? (Choose 2) 

A. Sort inner table in join order, then merge with left outer table 

B. Tables being joined have useful indexes on join columns 

C. Sort outer table in join order, then merge with the right inner table 

D. Sort both tables,then merge 

E. Tables do not need to be sorted but can be merged using indexes 

Correct Answer: BE 

 

QUESTION 4

Which of the following is true regarding the execution of dbcc checkstorage? 

A. Named cache must be configured 
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B. Large buffer pool must be configured 

C. Workspace segments must be configured 

D. Number of worker processes must be configured greater than 2 

Correct Answer: B 

 

QUESTION 5

Which of these minimally logged operations will NOT prevent a transaction log dump? 

A. select into 

B. truncate table 

C. fast bcp 

D. create index parallel 

E. writetext 

F. reorg rebuild 

Correct Answer: B 

510-025 Study Guide 510-025 Exam Questions 510-025 Braindumps

Powered by TCPDF (www.tcpdf.org)

510-025 Study Guide | 510-025 Exam Questions | 510-025 Braindumps                                3 / 3

https://www.geekcert.com/510-025.html
https://www.geekcert.com/510-025.html
https://www.geekcert.com/510-025.html
http://www.tcpdf.org
https://www.geekcert.com/510-025.html
https://www.geekcert.com/510-025.html
https://www.geekcert.com/510-025.html

